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B) (z—9)% = 12 + 4y
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;E: For each function, identify the hOI’]iOﬂlal asymptotc and ciomam

_%% )= 1 +5x + 4x QGWM UJQ = Q@N"W B‘w& X
P _ A Q_).QN‘
% s zx +4x% - 24x R B \s\bﬂ-b (o QR\\

Domain: All reals except -3, 0, 2
B) Horz. Asym.: y=0 -

Domain: All reals except -3, 0, 2
S7ak ) Horz. Asym.: y=0.
' Domain: All reals except 4, -1, 0
D) Horz. Asym.: y =4.

Domain: All reals except —4, -1, 0

=L o ¥
._;?w.“’ Horz. Asym.: y = A \é
_ 3’\

v{
<7

For each,fii'n-clion, identify the horizontal asymptote and domain. % ’

o

' 4x — 12
A) Horz. Asym.. y=0 B) Horz. Asym.: y=0
Domain: All reals except 3 Domain: All reals except 1, 2
1
@Horz. Asym.: None D) Horz. Asym.: y=— E

Domain: All reals except 3—
P== Domain: All reals except 3

Dowatd Y\ X) e ~o0 —> pAx-\2=0
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HX#\,Z, — ?& — --?R — ’3
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Graph eacfi system of inequalities. Name the coordinates of the veQ of the feasible
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%’ A) Vertex: (10, 3) o B) Vertex: (-3, 10)

T & Axis of Sym.: x =10, 6"' Axis of Sym.: x ==3
_ y-int: 103 y-int: 1 "
3 @ Vertex: (-3, -10) D) Vertex: (10, 3)
gl Axis of Sym.: x =-3 Axis of Sym.: x=-10

y-int: —19 ) y-int: 103
= T N 1T e

ot S AT

v 249 =8 (FH)=E-8 A ]

=Y 4150 = o\ =9
(W) = (*3 A I R S o
F mdthe value of the discriminant of each quadratic equation.
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20\ B2 4 -4-900o)
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l Solve each system by ehmmatlon

—4a 45 6¢c = ﬁ?;l’.
2(1'5}- 4/) + 3= \,) ,D(o'ﬁ
P —4b+ 3¢ —Qg $

! @ No solution B) (6, —P 6) |
C) (—2, 3, —6) D) (0’ ! 5 _5)

tl_t_t]g__ s://linktr.ee/m

Solve forxand}{ "":S =Q\ (5
4x =3 33;]'”_ [ 9 —15} * A e
73] 7 241 AN E TS X3
@x 3,y=-5,2=6
% 39 = -\ ¢
b)x=0,y=5,2=6 =C- 2

¢) x=0,yE8%=-6 Yé: =& 3
d)x=-3,y=5,2=6

k2z =13 1z =\ & =6\
- - Z
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22. BUSINESS Rashid usually gets one of
the routine maintenance options at
Annie’s Garage. Today however, he o3
needs a different combination of N
work than vs#!\clt is listed. o W

a. As ythat the price of an option is a
the same price as purchasing each 1tem "&
n'ﬁéparately Find the prices foran oil g
b' " change, a radiator flush, and a braképad —--
&"  replacement. ® gﬁ'

Q
b. If Rashid wants his brake pads replaced and his rachator flushed, how much should he
plan to spend?

ROUTINE MAINTENANCE OPTIONS

0il Change & Radiator Flush ||
$2999

Brake Pads & Oil Change
$39.99
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